1. **Which part of the cell is responsible for energy production?**
- A: Nucleus
- B: Ribosome
- C: Endoplasmic Reticulum
- D: Mitochondria
2. **Which process is involved in the water cycle?**
- A: Precipitation
- B: Evaporation
- C: Condensation
- D: All of the above
3. **Which is a noble gas?**
- A: Argon
- B: Nitrogen
- C: Oxygen
- D: Hydrogen
4. **Which vitamin is crucial for vision?**
- A: Vitamin A
- B: Vitamin B
- C:VitaminC
- D: Vitamin D
5. **Which gas is responsible for the greenhouse effect?**
- A: Oxygen
- B: Carbon Dioxide
- C: Nitrogen
- D: Methane
6. **What is 20% of 4507**
-A: 60
-B:70
-C:90
-D: 100
7. **|f a product is priced at $150 with a 25% discount, what is the sale price?**
-A:$115
-B: $112.50
-C:$120

-D: $125



8. **The average of 7 consecutive numbers is 14. What is the smallest?**
-A: 11
-B:12
-C:13

-D:14

9. **If a car covers 180 km in 4 hours, what is the average speed?**
-A:45 km/h
- B: 40 km/h
-C:50 km/h

-D: 55 km/h

10. **A number is divided by 5 and then multiplied by 3. The result is 60. What was the

number?**
-A:90
-B: 100
-C: 80

-D:70

11. *Which word does not belong: Chair, Table, Sofa, Book?**
- A: Chair
- B: Table
- C: Book

- D: Sofa

12. **If all apples are fruits and some fruits are sweet, which is true?**
- A: All apples are sweet
- B: Some apples are sweet

- C: All fruits are sweet



13. **In a sequence where each number doubles, starting from 3, what is the 4™ number?**
-A: 12
-B:24
-C:48

-D: 36

14. *Which letter comes next: B, E,H, K, __ 7**

15. **In a class of 40, 25 study math, 18 study chemistry, 10 study both. How many study neither?**
-A:5
-B:7
-C:10

-D:12

16. **Which is an input device in a computer system?**
- A: Keyboard
- B: Monitor
- C: Printer
- D: Speaker
17. **Which company developed Android?**
- A: Apple
- B: Microsoft
- C: Google
-D: 1BM
18. **Which is non-volatile memory?**
- A: RAM
- B: ROM
- C: Cache
- D: Registers
19. *Which country hosted the 2023 G20 Summit?**
- A: India
- B: South Africa
- C: Brazil
- D: Italy
20. *Which organization focuses on trade and economic policies?**
- A: World Trade Organization (WTO)
- B: World Health Organization (WHO)
- C: International Monetary Fund (IMF)

- D: United Nations (UN)



NOTE: (i) Part-Il is to be attempted on the separate Answer Book.

(i)

@iii) All the parts (if any) of each Question must be attempted at one place instead of at different places.

Attempt ONLY FOUR questions from PART-II by selecting TWO questions from EACH SECTION.
ALL questions carry EQUAL marks.

(iv) Write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must be
crossed.
(vi)  Extra attempt of any question or any part of the question will not be considered.
(vil) Use of Calculator is not allowed.
(SECTION - A)
Q.2.(a) What is the Tuberculosis and Hepatitis? Explain briefly. (5)
(b) Explain the mechanism of Fiber Optic Cable for signal. Explain its construction. (5)
(©) Explain the difference between Middle Latitude Cyclones and Tornadoes. (5)
(d) Whatis difference between the Tonic and Covalent bonding? Give cxamples. (5) (20)
Q.3.(a) What is difference between Plastics and Elastics? Explain bricfly. (5)
(b) What is role of Remote sensing and GIS in environmental Science? Discuss bricfly. (5)
(c) What are Kepler laws related to the motion of planets? (5)
(d) What is difference between preservatives and antioxidants? Discuss briefly with (5) (20)
examples.
Q.4.(a) Whatis role of Carbohydrates and Vitamins in the body? Discuss briefly. (5)
() Discuss the functioning of Liver and Pancreas. ' (5)
(¢) What are the standards of drinking water? How Heavy Metals in the water affect the (5)
living organisms?
(d) What is radioactivity? Discuss the laws of radioactivity. Name two radioactive (5) (20)
elements.
Q.5.(a) What are the Plant nutrition elements? Enumerate them. ®))
(b) What is difference between software and hardware? Give five examples of each. (5)
(¢) What are the types of earthquake waves? Discuss them. (5)
(d) What are longitudinal waves, electromagnetic and Gamma radiations? Discuss them.  (5) (20)
(SECTION - B)
Q. 6. (a) If the sum of four numbers is 105. When 03 is added to a number, twice of another (5)
- number, five times of third number and fourth number become equal to each other.
What are these numbers in ascending order?
(b) Find out the correct word from the given jumbled spellings. 5)
(i) UCTREUTRS (ii) LOVONAC (iii) CIHPROSTATAC :
(iv) YNTIAUMH (v) NNTHORER
(c) Find the missing numbers in the series below (5
- () 121,11,81,9,7,7 (i) 100, 50, 25, 7, 6.25 (iii) 4, 9, 64, 125, 1296, ? '
(iv) 2,5,12,24,48.? (v) 44, 22, 66, 33, 132, ?
(d) If the sum of three digit number is 15 and sum of 10" and unit digit is 12. The (5) (20)

difference of unit digit from 10™ digit is'equal to 02. What is the three digit number?
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